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QUESTION 1

A customer needs to create a VMware HA cluster. Which component is required for this installation? 

A. VMkernel port for HA 

B. vMotion configured 

C. deduplication enabled 

D. shared datastore 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.avail.doc/GUID-4BC60283-B638-472F-B1D2-1E4E57EAD213.html 

 

QUESTION 2

A customer\\'s Synergy configuration requires HPE Synergy 12Gb SAS Connection Modules in interconnect module
bays 1 and 4, and HPE Virtual Connect SE 40Gb F8 modules for HPE Synergy ICMs in interconnect module bays 2 and
5. What must the integrator verify in the HPE Synergy 480 Gen10 Compute Module configuration to validate this
solution configuration? (Choose two.) 

A. SAS controllers have HPE Compute Module Smart Array P542D SAS Cables 

B. Both processor slots are populated 

C. HPE Synergy 2820C 10Gb Converged Network Adapter is in Mezzanine 2 

D. A minimum of 128Gb of RAM is on each server 

E. HPE Smart Array P542D/2GB FBWC 12Gb Mezzanine SAS Controller is in Mezzanine 3 

Correct Answer: BC 

 

QUESTION 3

Refer to the exhibit. 
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An integrator needs to create a volume on the FC_r6 CPG using HPE Composer, but the CPG is not available for
provisioning. The integrator checked the Storage Pools section, and the CPG is visible. What must the integrator do to
enable volume provisioning on this CPG? 

A. Select this CPG in the HPE Composer, select Edit from the Action menu, and change the CPG state to Managed 

B. Navigate to the Storage Systems section in the HPE Composer, select the 3PAR array, and re-import required CPG 

C. Login to the SSMC and add the HPE Composer certificate for the CPGs which are in the Discovered state 

D. Login to the HPE SSMC and remove the read only parameter for this CPG 

Correct Answer: D 

 

QUESTION 4

Using a laptop, how can an integrator perform the initial setup on an HPE Synergy 12000 Frame? 

A. Connect a CAT5 cable to the MGMT port of the top Frame Link Module, and connect to the HPE Synergy console
with VNC to the address 306.025 port 5900. 

B. Connect a CAT5 cable to the front panel module, use the HPE Synergy default IP address of 192.168.10.1, port
5900, and connect to the HPE Synergy console with a web browser. 

C. Connect a CAT5 cable to the MGMT port of the top Frame Link Module, and connect to the HPE Synergy console
with a web browser to the address 192.168.10.1, port 5900. 

D. Connect a CAT5 cable to the front panel module, use the HPE Synergy default IP address of 192.168.10.1, port
5900, and connect to the HPE Synergy console with VNC. 

Correct Answer: D 

Reference: https://h20628.www2.hp.com/km-ext/kmcsdirect/emr_na-c05348240-6.pdf (88, 89) 
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QUESTION 5

A customer is considering implementing a DRS cluster, but they would like to know how DRS can help to achieve
performance goals. 

How should an integrator respond? 

A. When powering on a virtual machine, a DRS cluster can automatically place it on the optimal host. 

B. Selected virtual machines will be assigned higher priority when the amount of physical resources will drop below a
specific level. 

C. A DRS cluster will migrate a virtual machine to a different host when available network bandwidth will drop below a
specific level. 

D. If more than 50 virtual machines will be running on a single host, DRS cluster will configure CPU affinity to
proportional resource allocation. 

Correct Answer: B 
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